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I.  Dispute 3nv *1/11 regarding which “opposite number” is offered (~1v in our nwn)
a. 37 match from 1%t pair is offered, parallel from 2" pair grazes/dies
i. onm j8 o705y > living one from first pair was never rejected
b. v’z match from 24 pair is offered, living 1 from original pair grazes/dies
i. onm orn obyx living one from first pair was rejected
c.  Source: for 17's approach to nn»1
i. Possibility #1: o1 501NN
1. Rejection: it was never “fit”
ii. Possibility #2: “passing blemish” (121y D)
1. prr /7 unique to 727y D0 from "ona”
a. 37 1pn1 - only prohibited if alone; not with “good” 127p, as per X"
b. 71 inferred from npna/oma
i. 27 ona/painsignificant
iii. Theoretically: could bring either, but ideally bring 1t as per »01v "1: "1WKRI2 Mx¥n”
1. Source: not mayp (when we choose 1+, 2"d wasn’t yet fit)
2. Rather: lost-and-found noa (bring original one, if they’re equal)
d. ~27 mwn supports 17: “the one that comes up nw will stand in its place” = other one holds status
i.  Np73x supports 1Ny : let 274 one be offered, following v. 2 'n 10y & not the one that already stood
e. Analyzing: the dispute in light of the rest of the mwn
i. Last clause: N '1 says that if the blood of the 1YV is spilt, the nonwnn 1yw dies (2 onm 0PN HY1)
1. 27 that is the dispute between 1327/nT7 "3 (MWn reads “cleaner” to 11 as per (c i)
ii. 7 the “other” grazes, nnn 71ax nron PrY = parallel case of individual would die
1. 77 (offer 2m): like case of offering 2"d nxon, all agree that “lost” nxron dies
2. 37(offer 1*): should be like case of designating 2 mron “as backup”-> 2d grazes!
a.  Answer: since 271 holds like »ov "7 (nwR12 Mxn), as if he separated 2"¢ to be “lost”
iii. A7 /7 it dies (against p'n)
1. panp 77 achieves n193 through 2nd (which is offered)
2. 3710 1193 (since, N’ 19, NT DN YYY3, 15t was rejected and 27 dies...)
a. Answer: v "1 disagrees and has 1% dying and 2" offered
f.  Alternative/additional assessment: ”.. 19"
i. 37~ addition is dispute re: mnm n»n *Ha (1 dispute re: which one is offered)
ii. 797 775 what is the addition???
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